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#include <signal.h>
int sigemptyset(sigset_t *set);
int sigfillset(sigset_t *set);
int sigaddset(sigset_t *set, int signo);
int sigdelset(sigset_t *set, int signo);

A& O
sigset_t maskl, maskz2;

sigemptyset(&maskl);

sigaddset(&mask1, SIGINT);
sigaddset(&mask1, SIGQUIT);

sigfillset(&mask?2);

sigdelset(&mask2, SIGCHILD);
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#include <signal.h>
int sigaction(int signo, const struct sigaction *act, struct sigaction *oact);

TH

struct sigaction {

void (*sa_handler)(int); /* FS|A s */
sigset_t sa_mask; /A ANE Mg St FIFAIaE S ¥/
int sa_flags; /F N1 Hefol Fg2 oj" S v
void (*sa_sigaction)(int, siginfo_t *, void *);
i
®  sa handler
=  SIGDFL: A|AHIO| CIEE WHE
= SIGIGN : A|O4 2 A| (SIGSTOP, SIGKILLO|= £ %= 9i8)
"R Fa
" sa_mask
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" FAEE A2 oL, YTt sAE 2 o ADE HE|(H S5E A2
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= sa_flag

®  SA_RESETHAND : 54| = SIG_DFLZ R{&EH
= SASIGINFO : =20 =7t B2 ™
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j Sample Programs

sig_samplel.c -
" SIGINT ZXSL0] AME AL & 2
sig_sample2.c

= SIGINT 2 A|

= SIGINT Yzf si=oz =
sig_sample3.c
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#include <signal.h>
Int sigprocmask(int how, const sigset_t *set, sigset_t *oset);

Of

sigset_t setl;

sigfillset(&setl);
sigprocmask(SIG_SETMASK, &setl, NULL);
/&%t AE Al Y/

sigprocmask(SIG_UNBLOCK, &setl, NULL);
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